MiAMIDADE ' MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Laminator Incorporated.
3255 Souderton Pike
Hatfield PA 19440

ScoPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division and
accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where
allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code
including the High Velocity Hurricane Zone.

DESCRIPTION: Omega-Late Panels Systems 1,4 & 6

APPROVAL DOCUMENT: Drawing No. LAM 1, 2, 3, 4, 5 & 6, titled “System 1 on 5/8”Plywood and Poured
Concrete, System 6 on 5/8 Plywood and Concrete block & System 4 on Poured Concrete and Concrete Block
sheets 1 through6 2 of 6, prepared by Laminators Inc., dated 05/14/04, signed and sealed by R. Boyette, P.E.,
bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and
approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large & Small Missile Impact.

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entirc NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page, evidence page as well as approval document mentioned above.
The submitted documentation was reviewed by Candi . Font, P.E.

NOA No 03-1126.02
Expiration Date: 07/01/2009
Approval Date: 07/01/2004
Page 1




Laminator Incorporated

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
1. Drawing No. Lam 1, 2, 3, 4, 5, & 6, titled “System 1 on 5/8” Plywood and Poured
Concrete, System 6 on 5/8” Plywood and Concrete Block & System 4 on Poured
Concrete and Concrete Block”, sheets 1 through 6 of 6, prepared by Laminators Inc.,
dated 05/14/04, signed and sealed by R. Boyette, P.E.

B. TESTS
1. Test report of Static Air Pressure Test per TAS 202, Cyclic Wind Pressure Loading per
TAS 203 and Tension Test per ASTM E8 of Omega-Lite Aluminum Wall Panel,
Report Test No. 01-44568.01, dated 08/07/03 signed and sealed by J. A. Reed PE.
2. Test report of Ignition Properties Test per ASTM D1929, Rate of burning per ASTM
D635 and Density of Smoke per ASTM E84 of Omega-Lite Aluminum Wall Panel,
Report No. 01-50211.01, dated 04/30/04 signed and sealed by J. A. Reed PE.

C. CALCULATIONS
1. Anchorage Calculations of Omega-Lite Aluminum Wall Panel prepared by Richard
Boyette sheets 1 & 2 dated 09/04/03 signed and sealed by R. Boyette PE.
2. Anchorage Calculations of Omega-Lite Aluminum Wall Panel prepared by Richard
Boyette sheets 1 & 2 dated 05/18/04 signed and sealed by R. Boyette, PE.

D. QUALITY ASSURANCE
1. Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. Aluminum Extrusions die drawings A-9, A-10, A-11A-15, 478-6, 512-3b & 50295
produced by Laminators Incorporate and Star Technologies.

F. OTHER
1. No financial interest letter issued on 11/03/03 signed and sealed by Richard Boyette,PE

0 7/01/04

Candido F. Font P. E.

Senior Product Control Examiner
NOA No 03-1126.02

Expiration Date: 07/01/2009
Approval Date: 07/01/2004



{
WOooD 4 . #8 x 1l"screws 7 , i 12'~0" {maz)
WETAL HEAD ® 4" from panel - ' Foam tape i | -
» luminum j » . . Vents
Onk edge & 10" a.c. 7 ) seal & sprin alumi | ” | » 18" 0.C. intermediate .
1 J (see note #3 for 1/4” Gaska Tape, * , PO~ _ /_— flashing t 18 ‘ 16 ——l spacing of 2'x6” stud Panel adhesive (typ)
: L screw type) , /— except for vent - , ~ (.016—.040 thk) — (see note #4)
holes 1/8 'X3/8', d 1/4" Gaska Tape,— _ — e o
~< 2 per 8FT section ~ except for vent -1 5 7 —
. > holes 1/8"x3/8", ' 7 | ' AT
1/4" Geska T | L 2 per 8FT section |l=mmmm B ;—; i J—anolfding l —_ Zéss E;?olding | dashed lines
aska Tape : . o o ,. ™ end o - indi
2” long everyp ] aluminum THNE —#8 x 1" screws é é run (see V| [ | betwaen flashing™" :ilzd;:ate panel
12" o.c. for ventin, ' coping cover \ BEE @ 47 from panel 28 detail .1) [ 16" | furring~ |.{djat"top of Caulk
Dl g 1] 7 (.016-.040 thk) N L1 edge & 10" o.c g | for - vau
‘ _—Vapor retarder sealant \ ~—1 edge 0.c. b / 4 ventilatior joint
"] (see note #1 below) ' \ N (see note #3 for =22 - location\
B ) \ L screw type) % -
aluminum L, ] ;,/, 410:551;3;‘;‘1)9 §>_,;——Panel adhesive ’f‘ e /
flashin (g)40 i) ‘ B ¢/—5/8, 5 ply plyw'?od g 12" o.c. for venting = (see note #4) L 5" o i
} = 1 on 2x6 studs 16"o.c. /\ 3 N panel/ g
~-"] fastened w/8D common Panel adhere to § N1 = | 0™
Panel adhesive \ N |+ nails ® 8” oe. plywood w/ adhesive. \ i | A —_ =
(see note #4) \% SEinE (see details on %/\ N P »
o —] PANEL ELEVATION) ~— g Drip
Panel adhere to / § 1] 5/8", 5 ply PIYWood—/\\ ) d y .?gii!oﬁi!;n
plywood w/ adhesive. § SN~ on 2x6 studs 16%.c. \\ g > s — Vents
g:l\?Efeéaﬁg\szg?ON) 4 \ ~_| [ A fastened w/8D common g (typ)
N ] . » ;
TIGHT—FIT METHOp | Dails @ 8" oc. o
.| DESIGN PRESSURE Vapor retarder sealant
RATING 104 PSF (see note #1 below) ! =TT 57 TE - T
i 5 i fhoss T - /1 ! Polyallomer

L‘S/B” fit into extrusion CPA core

1a)DETAIL
1b) DETAIL PANEL ELEVATION | [ e backer —materel

Caulk filler -

N) N1
§ N g /_ Vapor retarder sealant - #8 x 1” screws . 48 x 1” screws V/ //// /// / ) bmm
\ q </ B (see note #l1 below) _ ® 4" from panel @ 4" from panel / T_— | !
§ Py edge & 10" o.c. edge & 10" o.c. ‘ .032” aluminum skin
\ bt 5/8", 5 ply plywood ., (see note #3 for 5/8", 5 ply plywood (see mote #3 for
Panel adhere N on 2x6 studs 16%o.c. - sorem type) ~5/87, 5 ply plywe (see note 4 OMECA—LITE
to plywood \ P fastened w/8D common on <x0 stucs o-c.
w/ fdﬂ:sive , § ] nails ® 8" o.c. ;o Pecora silicone fastened /8D, commo Vapor retarder sealant PANEL DETAIL
(see. details on § 1] | sealant with nelle @ 87 oc (see note #1 below) -
PANEL ELEVATION) \< = A N_(4) #6 x 1" screws - backer rod i i bead of silicone | FOR OFFICAL USE ONLY
bead of silicone v\ | IN-II-H] oo VSN o -y A v =~V VA o A -
Sealant § SEEpE o oo lseemote #3 < T e 1 1A 1771 77 S /{/
drip edge \ \ or screw type) A N A U Y I i N N O O A N lfél ] l ( l
extrusion \ S LN AN W A W W W LN N LV NV W W VAU )(/\ \ \
(see note #5) \ NAL LA /—1/4" (Eafska Talie, . &g 850008 =
o SN et o et - TR
Al 2 8FT secti . "
] g per section bead of J molding 1/4" Gaska Tape \—pane] adhere to H molding rn %eﬂe A E’(%‘}\%‘ 5
T - . silicone - extrusion plywood w/ adhesive. extrusion Im Bech FL 33411
- l L Self-Healing .- Sealant (see note #5) Panel adhesive (see details on (see note #5) v
: sill Sealant ~—End wall (see note #4) PANEL ELEVATION) Y/ \

aluminum : (6/0‘/ ) »
e @END DETAIL OJOINT DETAIL 51l [SySTEM 1 ON 5,/8" PLYWOOD
(618010 s OSILL DETAIL — TAMINATOR'S INC.

(NOTE#1:| Vapor retarder sealant is W°°d furring strips |LNOTE#3:] Screw types [NOTE#4:| Panel adhesive to NOTE#5:| All molding extrusion 3255 SOUDERTON PIKE
gallsl_fit lf'olybraﬁe. 171, mgnufc'g:t(lilc!l'.ed 13 "e OUthelrn@P;gf PT v;; df‘?ég:fvsScﬁgrséips;zﬁll‘;ﬁvSteel be tquld Nails, heavy duty | made of Alloy 6063, temper HATFIELD, PA 19440
y Vitricon. It is a water shedding, x3” nomina o.c. ) . . ion, , i —4. Thi is 0.045".
vapor permeable, liquid applied sefl : ggﬁet Il?etgl tscxi)ewsf, rs’c.alnless s’c.eelj.i . :gnsl;ngg’n33—&1\;226’6:11:1)113(1 T—4. Thickness is 0.045 RICHARD BOYETTE, PE PE# 42485
m=2mbrane. Two coats applied. ew ea o € IO SESYT Wy 6% IR eA SYERL: » : ”» . .
PP (see attached documentation for shear 3/8" thick, every 16" o.c. ‘ DATE: 5 / 14 / 04 |REV.DATE:
and pullout test results) PAGE 1 OF 6 DWG NO: LAM-1




#8 x 1”screws

@® 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

—————1/4" Gaska Tape

2" long, every
12" o.c. for venting

Vapor retarder sealant
/— (see note #1 below)

=

5/8”, 5 ply plywood

on 2x6 studs 16”o.c.
fastened w/8D commeon
nails @ 8" o.c.

]
System 6 clip—-i. [
"' (see note #5) - wml
2 N LA
;a S e e il B
[g\ N L
/ N NLLH
N [Ir
aluminum =: I
flashing P
(.016-.040 thk) ‘P>l
. N <
Panel adheswe_/ \
(see note #4) % \\_/;
Panel adhere to —/\ P~ ]
plywood w/ 'adhesive.\ N LA
(see details on \ g »
PANEL ELEVATION) N § T

1a) DETAIL

CLIP & CAULK METHOD
DESIGN PRESSURE
RATING 104 PSF

[/

Panel adhere
to plywood
w/adhesive.
(see details on

PANEL ELEVATION)

///Ai;f!/
[ N
[
| WL
NN

A,

L /—Caulk filler

/Vapor retarder sealant

(see note #1 below)

5/8", 5 ply plywood

on 2x6 studs 16"o.c.
fastened w/8D commeon
nails @ 8" o.c.

1/4” Gaska Tape,
-1 sealed with caulk,
except for vent

holes 1/8"x3/8",
2 per 8FT section

System 8 clip S~
(see note #5) 1
\\_ /4
Pecora silicone WA\ g
sealant STy S
. ) , X
. , SN

o

411inum sill
flashing
(.016—.040 thk)

(4) #6 x 1"screws
@ 6" from end &
12" o.c. (see note#3
for screw type)

Self-Healing
Sealant

<:>SHJ,DETAHJ

on 2x6 studs 16 o.c.
fastened w/8D common
nails @ 8" o.c.

5/8%, 5 ply plngod_/
N

#8 x 1"screws

@ 4" from panel
edge & 10" o.c.

(see note #3 for
screw type)

System 6 clip_\

et
- et 51

P

spacing of 2'x8" studs

18" OC intefm%&at%Pmel

sma-;

(see note #4)

adhesive

Vents
[ (typ)

(see note #5)

aluminum
coping cover

(.016—.040 thk) .

1/4” Gaska Tape \
2" long, every §
12" o.c. for venting

Panel adhere to—/\
plywood w/ adhesive. \

(see details on
PANEL ELEVATION)

Vapor retarder sealant
(see note #1 below)

1b

DETAIL

#8 x 1’screws

® 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

Pecora silicone

sealant.

H—-m’éﬁing
pdnel
]o t (see
tail .2)
panél-inter 1 6"

medlarles
L~ . |

dashed lines
indicate panel
sizes

Foam tape aluminum
seal & spring ] ~ flashing
. /[ (016-.040 thk)
o:°°g° - /
| 3
[ - |
!
i
e
a Virun (see
- = detail .1)
1 e
. l—++—Panel pdhesive Q
| (see npte #4) ©
e
U g
L1 e @
/ ——
=2
'~ L~ )
S
|
%
¥
end of }

L]i5/16

rur

PANEL ELEVATION

5/8", 5 ply plywood

on 2x6 studs 167o.c.
fastened w/8D common
nails @ 8" o.c.

Vapor retarder sealant
(see note #1 below

#8 x 1"screws

@ 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

/ [ L L L L LN L L LY L
[ [ [ [ [ [ 7 [ [ ([ [

[ A

VAVA N EVAY/ASEE ST A
/ [ [ [ [ [ 4 f § [

48 NN U S A

I A

l
A

{
L L WU W O

\

|
\gf \

0| 0°%2.%,9 g

A\
NN\

DR

System 6 clip

(see note #5)\ \
j——End wall Panel adhesive

(see note #4)

<§>END DETAIL

Panel

plywood w/ adhesive.
(see details on
PANEL ELEVATION)

1/4" Gaska Tapt-':X
Panel adhesw

t
adhere to(see note #4)

System 6 clip
(see note #5)

4 )JOINT DETAIL

==\ 0
\ \—Panel
Pecora silicone

sealant

5/8", 5 ply plywood

on 2x6 studs 167o.c.
fastened w/8D common
neils @ 8" o.c.

V R Boyette FL PE 44
24
4031 Cocoﬁut Bivd 85

i 511 19/16"

Polyallomer
018" white backer _ 7ot fOF
/ ;
77777777777 e

L.032"'
OMEGA—LITE

f

aluminum skin

PANEL DETAIL

—y

Palm Bch FL 33411

FOR OFFICAL USE ONLY

uag el e

6{Lé(o-/ SYSTEM 6 ON 5/8” PLYWOOD

mVapor retarder sealant is
called Polybrane 171, manufactured
by Vitricon. It is a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.

NOTE#2:| Wood furring strips

o be Southern Pine PT
1"x3” nominal @ 16" o.c.

Screw types
EW Buildex screws, stainless steel

Wood screws, hot dipped galv.

Sheet metal screws, stainless steel.

Screw head to be for sesswesyon (Keh <TEEL

(see attached documentation for shear

and pullout test results)

Panel adhesive to
be Liquid Nails, heavy duty
construction, LNG01, applied
to plywood, 3"diameter,
3/8" thick, every 16" o.c.

NOTE#5: |See drawing 512-3b
[0}

r metal clip detail. Attach
every 12" o.c. with 1 1/4"
ITW Buildex screws. See note
#3 for more detail about
screw type.

LAMINATOR’S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

RICHARD BOYETTE, PE PE#42485

DATE: 5/14/04

REV.DATE:

PAGE 2 OF 6

DWG NO: LAM-2Z2




#8 x 1’'screws @

4” from panel edge
& 10" o.c. (see note
#3 for screw type)

aluminum
flashing

(.016—.040 thk)

Panel adhere to —"]
furring w/ adhesive.
(see details on
PANEL ELEVATION)

o
poo™”

IFENG
ks 2
141

Minimum of 1 1/4” pen. into concrete/cmu

1/4" Gaska Tape,
except for vent
holes 1/8"x3/8",
2 per BFT section

| —— TAPCON masonry anchor
(see note #5)

Wood furring
(see note #2 below)

1/4" Gaska Tape
2" long, every
12" o.c. for venting

aluminum

Panel adhesive coplng cover

. (see note #4)

Foam tape :
seal & spring i

(.016-.040 thk)

090° P o
]

8 000

L~

#8 x 1"screws @

4" from panel edge
& 10" o.c. (see note
#3 for screw type)

aluminum flashing .
(.016—.040 thk)

~<_-1/4" Gaska Tape,

except for vent
holes 1/8"x3/8",
2 per 8FT section

- 1/4" Gaska Tape

2" long, every
12" o.c. for venting

Wood furring
(see note #2 below)

| Panel adhesive

(see note #4)

1i2'~2" {(max)

16” __'
=

16" 0.C. intermediate

: . Panel adhesive
. t 4
spacing of furring strips (see note #4)

Vents
[mm

!

f

5 H-molding| 3/4"

’;.::‘ end of J1gaps

g run (see between

= detail .1) furring™
for -~

o ,,v.entilatior,,

*v"%‘*'

Caulk
joint
location

378" it inlo extrusion

cam tape

.
H-mdlding
pdnel

oam tape

"1a) DETAIL

Panel adhere

to furring
w/adhesive.

(see details on
PANEL ELEVATION)

bead of silicone
Sealant

drip edge
extrusion

(see note #8)

.

< A

-

[N

——TAPCON masonry anchors

| —Vapor retarder sealant

| ____Panel adhesive

"\- (4) #6 x 1"screws

_— caulk filler

#8 x 1"screws

@ 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

(see note #5)

(see note #1 below)

(see note #5)

Panel adhesive

(see note #4)

® 6" from end & A

TAPCON masonry anchors-

#8 x 1"screws

® 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

(see

TAPCON masonry anchors

note #5)

o éiioigtita;f e; els:‘:)lant Vapor retarder sealant £ d}r;&nel ] JdO éltl(sg)e
’ = esive ail .
Panel adhere to—/ SR (sge note #1 below) & edge or |/ enelint 18" \
7—Poured furring w/ adhesive. < . I-molding ecﬁarles_ poured
concrete, (see details on 1 E:ug::te @ / » concrete ~ Vents
3000 psi  PANEL ELEVATION) » 3000 iy | ; 'I] (typ)
: 4 a | of run "
, : § ~ - . .
TIGHT-—-FIT METHOD } l_—_ ,
‘ DESIGN PRESSURE - “— Y N .
Poured T T e Y C——
o ote, | RATING 104 PSF 1b) DETAIL . 511 15/18 T/ Polyallomer
/-3000 psi “-3/8" fit into extrusion CPA core
i PANEL ELEVATION 015" white backer /material

—dashed lines
indicate panel
sizes .

{

6mm

//V/C//////////

.032”

OMEGA-LITE

aluminum skin

f

Panel adhesive

A/-(see note #4)

12" o.c. (see note #3
for screw type)

Wood furring

/q— (s'ee note. #4) —\

" /~ Vapor retarder
sealant (see note
/\ #1 below) A
N T EVET

ALAIIIININMNINNNN

/ - -
MY AN

(see note #2 below) Py
r 1/8"(min) : N i
C ‘ Pecora silicone

f / L_ sealant —————
L I sill N_’

aluminum Self~Healing _/ bead of silicone

flashing H molding ——End wall Sealant

(.016-.040 thk) extrusion

(see note #6)

Sealant
@SILL DETAIL

by Vitricon.

|NOTE#1: |Vapor retarder sealant is
calle olybrane 171, manufactured
It is a water shedding,

vapor permeable, liquid applied seal
membrane. Two coats applied. '

NDTEEZ lWood furring strips
tn be Southern Pine PT

{<3" nominal @ 16" o.c.

Wood furring
(see note #2 below)

\——Panel adhere to
furring w/ adhesive.
(see details on PANEL ELEVATION)

\H

(see note #6)

' «——Poured concrete,
3000 psi

- Air gap

bead of silicone
Sealant

molding extrusion

PANEL DETAIL

et

FOR OFFICAL USE ONLY

ing with the

SYSTEM 1 ON POURED CONCRETE

OEND DETAIL OFURRING DETAIL OJOLNT DETAIL

(see
and

{NOTE%3 ] Screw types

TE% Buildex screws, stainless steel

Wood screws, hot dipped galv.

Sheet metal screws, stainless steel.
Screw head to be for stisswooo on g enaTERL.

NOTE#4: |Panel adhesive to
€ Li

quid Nails, heavy duty
construction, LN901, applied
to furring strips, 3"diameter,

attached documentation for shear 3/8" thick, every 18" o.c.

pullout test results)

OTE#5: Masonry Anchor type:
ode

T PF3--134 ITW Ramset Red
Head, 3/16” x 1 3/4", with
1 1/4" embedment @ 6" from
top & bottom, and 12" o.c.

moldings made of

Thlckness iz 0.045".

NOTE#G_J All extrusmn
Alloy 8063, temper T—4.

"R Boyette FLPE #42485%
4031 Coconut Bivd

LAMINATOR’S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

RICHARD BOYETTE, PE PE#42485

DATE: 5/14/04

REV.DATE:

PAGE 3 OF 6

DWG NO: LAM-3

E\Q}E{ Paim Beh FL-334114

HCCU



#8 x 1"screws

(.016—.040_thk)
@SILL DETAIL

Self—Healing
Sealant

T % g,_‘
12'—0" (max}

!
I

ELEVATION)

@ 4" Foam tape ‘
A ed;e irolrg" l::)a:gel ) seal & spring/‘ aluminum ” { " 16" 0.C. intermediate Panel adhesive Vents
' l i (see note #3 for {System t6 dép B P - flashing 16 ] 16 ——' spacing of furring strips (see note #4) l(typ)
? screw type) | (see note # ) & (.016'—.040 thk) i R = ;
- \‘!l’—l—TEE;jl : 1/4" Gaska Tape / ‘y"’"éﬂ ————— ;;—;—— — Y D .{ e
: & /2""10ng. every ,_ ‘,%‘69’ System 6 clip E — T
N | ‘.;:;‘ ; 12" o.c. for venting ﬁ’ ’:‘:’:‘ (see note #86) | Hemolding 3/4" i roldind \ |
|Minimum of E = TN S - end of Leaps and -dashed lines
1 1/4" pen. 2 APCON h fe) XXX " o Bat: flashing™ indicate panel
. |\\ T masonry anchors o KA 1/4" Gaska Tape g run (see stween ashing , Sires
into concrete/cmu :\ (see note #5) b I‘ = ““"‘ 2" long, every s detatl .1) ?ol::rmg ::Entolj o Caulk '
\E ' J = 9:’:‘:‘ 12" o.c. for venting g&  ventilatior ] d {‘oini;;.
E _ / /z-" % o ‘:';,gu y " ocation
/ § | ——Wood furring § “0;9: Wood furring 9‘1 :
Jurinum = (see note #2 below) ' _/ = é""‘ (see note #2 below) o A ion
?l:srl'riilng Panel adhesive 22;?11; u:;ver = ““‘ A Panel adhesive e % =
. =i - v :
(.016~.040 thk) (see note #4) (.016—.040 thk) = :”i‘:’ (see note #4) @ 1
Vapor retarder sealant = S Vapor retarder sealant | .
L—""" =] B
Panel adhere to —" (see note #l1 below) \\E (‘:"‘z (see note #1 below) v ogfn:f P oIt (see ‘ i
furring w/ adhesive. Panel adhere to-—" |\\ = ”"’. ' g Pri dhesive 01| |detail .2) ‘
(see details on 7—Concrete furring w/ adhesive. = XSG Concrete B eglg% or anélint 16" 16"
PANEL ELEVATION) block, C—90 (see details on | = 0‘:‘:‘:” block, C—~90 . TS rolding| [Jmediaries; @ — Vents
‘ : PANEL ELEVATION = at | ~h t
| N (- stototets il o @yt NG ‘Al (o
1 CLIP & CAULK METHOD i ‘/'-’f/r.!-‘-'n = Pg . /
DESIGN PRESSURE "R d
la DATING 104 DSF 1b) DETAIL f—_ﬂ » K
o ; 531 15/16 — BI7 13718 ———————]
TAPCON masonry anchors Lq /8" (min) Polyallomer
see note #5 )
£ ( #9) PANEL ELEVATION 015" white backer _ Ci4 SOT®
5 . #8 x 1"screws '
E L Caulk filler 5 4" trom panel 4o x tsorems / / i
Panel adhere E. __gﬁ;::ci{reiee_go ?:egee naétio #30';')1_ @ 4" from panel W////// /// 6mm
to furring NE = screw type) TAPCON masonry anchors edge & 10" o.c. / L }
zV/ adgeswia. '%’ |_~—Vapor retarder sealant (see note #5) (see nc:te 7;‘3 for ,032" aluminum skin
see details on EI (see note #1 below) . screw iype
= Pecora silicone / j —_—
PANEL ELEVATION) N Pael adhesive Pecora . Vapor retarder PAPCON tasons OMEGA—-LITE
» ' o te ) Panel adhesi sealant (see note n ”  PANEL DETAIL
El X see note anel adnesive 1 below) ancnors
= (see note #4) # . A A (see note #5)
= |_—Wood furring ] \ FOR OFFICAL USE ONLY
= 7 ; y D
ystem & cip o (soe mote #2 below) KRR IS0 R SRIIRA [REILSELINIIIRLEAL Comorete block. G0
‘ te #6 = " 0.0 10001 9.9:9:9.9:9. 9999990099099 i ’
(see note #6) ]5; /——1/41 é}as'li% Tap?i{ “" “?".A NN N “““"‘”‘?‘ 1 Panel adhesive
g sealed with caulk, 3 WD - . . -
\%‘ &S except for vent N 4 Wood furring— =5 (Asi:-e gl;;te #4)
Pecora silicone VT kL X t=-holes 1/8"x3/8", i ' (see note #2 below)l e M eolom
| sealant | ' )"° 2 per 8FT section =====’ N \\L\\\\\\\\\\\\\\ \ \ Gzéu\& o
R ~—(4) #6 x 1"screws » _l 1/4” Gaska Tape ( ‘
| L ill ® 6" from end & “[System 6 clip 1/4" Gaska Tape Panel adhere to \Pa BOYEﬂ / %/0(
-aluminum st 12” o.c. (see note (see note #8) furring w/ adhesive - 403 QFLPE 2485
flashing 3 for type) End wall g W, . System 6 cli Pecora s1hconﬁ 31 Coconut Bivd
#3 for screw type nd wa (see details on PANEL (see note #6) sealant Oyal Palm Bch EL 33411

SYSTEM 6 ON CONCRETE BLOCK

@END DETAIL @FURRING DETAIL

@JOINT DETAIL

|NOTE;;§1: |Vapor retarder sealant is
calle olybrane 171, manufactured
by Vitricon. It is a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.
NOTE%Z: ] Wood furring strips

to be Southern Pine PT

v 3" nominal @ 16" o.c.

[NOTE%S:]ScreW types
T uildex screws, stainless steel
Wood screws, hot dipped galv.

Sheet metal screws, stainless steel.
Screw head to be for st sswisav 6n 1EGA SYEEL.
(see attached documentation for shear

and pullout test results)

Panel adhesive to
be Liquid Nails, heavy duty
construction, LN901, applied
to furring strips, 3"diameter,
3/8" thick, every 16” o.c.

EI_QTE#S: lMason.ry Anchor type:

Model: PF3—214-ITW Ramset Red
Head, 3/16" x Z-1/4", with

1 1/2"” embedment @ 6" from
top & bottom, and 12" o.c.

ITW Buildex screws.

screw type.

NOTE#6:| See drawing 512-3b

for metal clip detail. Attach
every 12” o.c. with 1 1/4"

#3 for more detail about

LAMINATOR'S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

RICHARD BOYETTE, PE PE#42485

See note

DATE: 5/14/04

REV.DATE:

PAGE 4 OF 6

DWG NO: LAM-4




#8 x 1"screws

Pop rivet —
(see note

#7)

System 4
angle (see
note #6)

Self-Healing
Sealant

silicone
sealant

(see note #1 below)
Panel adhesive

19 .. 4.7 (see note #4)
/ |_—Wood furring

] / (see note #2 below)
4 4

|—1/4" Gaska Tape,
sealed with caulk,
except for vent

““F=-holes 1/8"x3/8",

2 per BFT section

\"\4'\\(4) #6 x 1"screws

@aluminum
\.flashing

(.016—.040 thk)

@SILL DETAIL

INOTE#1: ]Vapor retarder sealant is
calle olybrane 171, manufactured
by Vitricon. It is a water shedding,
vapor permeable, liquid applied seal
membrane. Two coats applied.
NQTE%Z: ] Wood furring strips

e be Southern Pine PT

I'*3” nominal @ 16” o.c.

@ 6” from end &
12" o.c. (see note
#3 for screw type)

Backer rod, sealed
withcaulk, except

for vent holes 1/8"x3/8",

2 per BFT section

p—
_—Vapor retarder sealant

4 et

-0" (max}

Lh

screw type)

TAPCON masonry
anchors

(ﬁee note #5)

Vapor retarder sealant TAPCON masonry

OMEGA-LITE

@ 4 from panel Foam tape System 4 angle :
" 1 & i ” ] n 16" 0.C. int diat .
I edge & 10" o.c. sea. Spring (see note #6) 16 t 18 —~‘ spacing ;Jfl f:rn;;gasirips Panel adhesive (typ)
(see note #3 for - __aluminum — see note #4)
. : | screw type) iy flashing ' — AN ]
——— || r ' (! <4 1/4” Gaska Tape :!____ (.016-.040 thk) ; — ~ .
1K . '/_2 long, every r ol i TAPCON masonry anchors | s Xe 70
— SR izd 12" o.c. for ventin NI ry i ~moldi 3/4" H~moldin —N \_ .
.System 4 \\\\:"&/! = g « \\\& g} ;— (see note #5) —~ Em;n gf 08 / 3£ps and 4 G ~dashed lines
angle (se.e X \ Y zza | !I, L ]‘— g run (see Hétwgsn flashing™ lpdxcate panel
note #6) il / |_——TAPCON masonry anchors I]F s -4 ~Wood furring E detail .1) g““‘ingk at"top of Caulk siues
4 AR see note #5 loc) = or . run__ Ca
Pop rivet— T ( #5) Pop rivet N (see note #2 below) EE  ventilatior ~ iglcre}xti':ion
(see note J N ' (see note \ Panel adhesive :ﬂﬁ Caulk T
\ Wood furring #7) \\ /_(see note #4) 53 jomt =
i § t b - « _~location ~=
aluminum \ (see note #2 below) § . L—Vapor retarder sealant | 4f vaN Ik
flashing \ Panel adhesive @luminum \ (see note #1 below) : -
(.016-.040 ‘thk) \ |~ (see mote #4) coping cover \ foam—c7 e . foam—c >
_/§ (.016—.040 thk) R\ -{ ~ Poured ;1:; 1& E;gg;ﬂdm& furring~ tape—l&: /,4 0w T
Panel _ \ * | — Vapor retarder sealant \ concretq, = adhesive }oint (see doubled E&'ﬂ:sive - g_g 5{3
N (see note #1 below) A 3000 psi Al |- entire /lidetai 2) | [§ |1 reach [Rreniire f1 i3
o N _ . g rip length o ack o lengthi o =i
Minimum ofv’% =~ Panel adhere to \ = ~ edge or furring. pane TN poured , S
1 1/4" pen. \ C oAl 'Egggsgte furring w/ adhesive. k o J~molding' 4~ “ \ /Q concrete | W }~ Vents _%' &6
into concrete/ \ ( e 3000 psi (see details on \ ( N :cc)ttom/’ 1 d 1 S e & 8?(
cmu \ - N PANEL ELEVATION) R\ . of run P ' Y ) 22 5
" » a - . - "~ m
21 172 51 172 / el
. ; JFT
) P
? E il Ta iR 7 T —11 15718 - O N
1a) DETAIL 1b) DETAIL 5 I I5/18 511 15/16 , c @
TAPCON masonry anchors : : = -3/8" {min) Polyallemer‘
RS (See note #5) V—GROOVE & BEND METHOD PANEL ELEVATION _— CPA core
+1 1/2 \ DESIGN PRESSURE .015" white backer material
\ _{~—Caulk filler — #8 x 1"screws RATING 104 PSF #8 x 1"screws / |
Panel : @ 4" from panel ® 4" from panel
§ : —gggged concrete, edge & 10" o.c. edge & 10" o.c. W//////// / 6mm
\ od =3 psi (see note #3 for (see note #3 for / L— ’ : 1
screw type) .032” aluminum skin

anchors
(see note #5)

PANEL DETAIL

W) eI 5 2o

sealant

-~—DFnd wall

4

(see note #1 below)
I / \ |

: /poured concrete, 3000 psi

Panel adhesive
(see note #4)

/-:Pop rivet
(see note #7)

Panel

adhesive
(see note #4)

Wood furring
(see note #2 below)

Wood furring
doubled’ to
reach panel

1/4” Gaska Tape

I
i

oy 1 Pop rivet

i

(see note #7)

iz

Pecora silicone—System 4 angle
(see note #86)

System 4 angle

LPanel adhere to furring w/ adhesive.
(see note #86)

Pecora silicone
(see details on PANEL ELEVATION)

FOR OFFICAL USE ONLY

sealant

SYSTEM 4 ON POURED CONCRETE

@END DETAIL( 4 FURRING DETAIL( 5 )JOINT DETAIL

NOTE#3:| Screw types

e

KBuildex screws, stainless steel

Wood screws, hot dipped galv.

Sheet metal screws, stainless steel.
Screw head to be for saxswosw anw1gsessreEes .
(see attached documentation for shear

and pullout test results)

Panel adhesive to
€ Liquid Nails, heavy duty
construction, LN901, applied
to furring strips, 1/2"dia.,
3/8" thick, entire length of
furring.

Masonry Anchor type: |NOTE#6: |System 4 angle made
fodel: PF3—134 ITW Ramset Red|

LAMINATOR’S INC.
3255 SOUDERTON PIKE
HATFIELD, PA 19440

of 3003 aluminum, 1/2 to 1/3
Head, 3/16" x 1 3/4", with

RICHARD BOYETTE, PE PE#42485

. hard H14-16. Placed 6" to 12"
1 1/4" embedment @ 6" from | from ends, and every 24" o.c.
top & bottom, and 12" o.c.

‘Pop rivets are 1/8" DATE: 5/14/04

REV.DATE:

aluminum rivet & plain steel
mandrel, 2 per system 4 angle,

PAGE 5 OF 6

DWG NO: LAM-5




#8 x 1”screws 12'~0" (max} ?
@ 4" from panel : ) o ‘ {
odge & 10" pan Foam tape System 4 angle g ——le 16" 16" 0.C. intermediate benel adhosive 'Zcen"f
(see mote #3 for seal & spring (see note #6) I _ ~1 spacing of furring strips /‘{s\ee note #4) yP
screw type) aluminum —— —] —
flashing T = — e 1=
o T1e> 3.6 £ /_1/4n Gaska Tape (.016—.040 thk) g el
2 2" long, every | H-moldin — \_
Sysfien.z 4| o . 12" o.c. for venting /_TAPCON masc)»nry anchors = falndhmg/ - -;inadsi]:i%eh;:]sld
“angle (see -' see note #5 g ashi ;
note #6) X = k S o ( # B at"top of Coulk sizes
_ e / ‘ _—TAPCON masonry anchors ;m Bg—F _~Wood furring é“ run__ - i :il;t
Pop rivet—F ) » (see note #5) Pop rivet L N\ (see note #2 below) BT Y location
see note : Caulk ™~
;7) /J N ' %e note / N\ | Panel adhesive g joint. N
§ |_——Wood furring § (see note #4) L. | A_/locatmn : =_ |
fall:srﬂllll’llélm s (see note #2 below)l . _/ \ ,—Vapor retarder sealan - ¥ ] . o T
aluminum oarm - e foam b
(.016—.040 thk) \ /__Panel adhesive coping cover § (see note #1 below) | ™ *-&Pe? H-mdlding S tape&T g s
‘ (see note #4) (.016—.040 thk) \ e panel panel furring™. panel = %—'2“"
p ] § . ’ ’ % L, ~Concrete e adhesive }oint (see doubled adhesive ‘ FO
anel — \ |_—~— Vapor retarder sealant \ block, C—90 g Dri entire -/l detail .2) to reach entire -~ \ wsh
Mini f‘_’% (see note #1 below) \ A fi‘lp length o back of length o N\ acc
Minimom ot~ R _ 1] | N reosc (i, ) e |, 283
1 / pen. \ - />—Concrete Panel adhere to \ = at. g @_ : 9 . _D\. concrete | j typ) 2O I3
into concrete/ % block, C-90 furring w/ adhesive. \ | bottom ] - L 2z AN TS
cmu % ( (see details on % ( | of run . - < >°‘a?
N PANEL ELEVATION) N | . - ./ é" Y
, ; . } T — ~ @
la) DETAIL @ DETAIL = B —11 [15/16 — E-it 18/18 ————
TAPCON masonry anchors PANFL ELEVATION 5 /8" (min) Polyallomer
015" white backer __ oy COTe

(see note #5)
V—GROOVE & BEND METHOD

DESIGN PRESSURE
RATING 104 PSF

#8 x 1"screws

@ 4" from panel
edge & 10" o.c.
(see note #3 for
screw type)

28 4}5 ;"screws , / |
cdge & 10" 0. oz 6rm
/

(see note #3 for f
screw type) L_ : i )
032" aluminum skin

TAPCON masonry anchors OME G’A_LITE
(see note #5) PANEL DETAIL

A
"’.‘?”""}0"’”"‘;‘(’ Concrete block, C—90 FOR OFFICAL USE ONLY
Panel adhesive

KA K KR
4 .“"“r (see note #4)

Wood furring'

J1—~—Caulk filler

Panel .—_Concrete

block, C-90

-
_—Vapor retarder sealant
(see note #1 below)

o

TAPCON masonry anchors Vapor retarder sealant
(see note #5) —\ (see note #1 below)
XK b

o
dede:

Pop rivet
(see note #7)

System 4
angle (see \
‘note #6)

Panel adhesive
(see note #4)

| ~—Wood furring
(see note #2 below)

Self-Healing

]

Sealant /-1/41" c(l}as‘lgla1 Tap?l'c )<’Pop rivet i
sealed with caulk, N H
Pecora ‘ except for vent Ty (see note #7) <. Wood furring s (see note #2 below)
silicone e N —holes 1/8"x3/8", : Panel : doubled to [y
. sealant Y 2 o ol 2 per 8FT section adhesive reach panel 1/4" Gaska Tape
: y (see note #4) .
Aol b L ., Bkt Pop rivet
, () 48 x L'screws N 0 (see note #7)
luminum 12" o.c. (see mote Pecora sﬂico!}System 4 angle LPanel adhere to furring w/ adhesive. a4 System 4 angle
flashing . Pecora silicone ys g
(.016—.040 thk) #3 for screw type) sealant (see note #6) (see details on PANEL ELEVATION) sealant : (see note #8)
2)SILL DETAIL koot seles =0T ' | SYSTEM 4 ON CONCRETE BLOCK
L withcaulk, except
for ‘vontoves erss/e',( 3 JEND DETAIL @FURRING DETAIL( 5)JOINT DETAIL  froraross e
[NOTE#1: |[Vapor retarder sealant is 2 _per 8FT section N\ 3555 SOUDERT ON PIKE
“calle olybrane 171, manufactured NOTE#3:| Screw types ; INOTE45: IM : @ ]
ol . h : OTE#4: : |Masonry Anchor type: OTE#6: |Systemn 4 angle made
by Vitricon. It is a water shedding, | “TEXBuildex screws, stainless steel TEgd: Panel adhesive to IModel: PF3-714 ITW Ramset Redjof 3003 aluminum, 1/2 to 1/38 |HATFIELD, PA 19440
vapor permeable, liquid applied seal | Wood hot dipped gal e Liquid Nails, heavy duty B R " » 2 =
membrane. Two coats applied ooc¢ screws, 1ot cippec ga.v. construction, LN901, applied Head,’3/16 X 2”!/4% with hard Hi4-16. Placed 6 to 13 RICHARD  BOYETTE, PE PE#424-85
'NOTE#2: ] . : C Sheet metal screws, stainless steel. | 4o furring strips, 1/2°dia,, |l /2" embedment @ 6" from | from ends, and every 24" o.c. ' :
TOTE#2: | Wood furz_'mg strips crew head to be for sﬁssl,mocnmxsgfgsmm.. 3/8" thick, entire length of top & bottom, and 12" o.c. NOTE#?: [Pop rivets are 1/8" DATE: 5/14_/04_ REV.DATE:
to0 be Southern Pine PT (see attached documentation for shear furrin aluminum rivet & bplain steel
\"x 3" nominal @ 18" o.c. and pullout test results) & mandrel, 2 per sysgem 4 ‘angle. PAGE 6 OF 6 DWG NO: LAM-6

Weeco ™G s7a7




